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yyy = Bill Routing; 000: BILL STACKED
001: ESCROW POSITION?
010: BILL RETURNED
011: BILL TO RECYCLER'
100: DISABLED BILL REJECTED
101: BILL TO RECYCLER - MANUAL FILL"?
110: MANUAL DISPENSE'
111: TRANSFERRED FROM RECYCLER
TO CASHBOX!'

XXXX = Bill Type (0 to 15)
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For example, we received: 30 81 or 30 81 09

30 is the Device ID: 30 means Data from bill validator

And then followed is the Bill Validator Activity data, maximum 16 bytes
(Please refer the MDB protocol V4.3 PAGE 95)

The first byte data 81, that is bin data: 1000 0001
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yyy = Bill Routing; 000: BILL STACKED
001: ESCROW POSITION?
010: BILL RETURNED
011: BILL TO RECYCLER'
100: DISABLED BILL REJECTED
101: BILL TO RECYCLER - MANUAL FILL"?
110: MANUAL DISPENSE'
111: TRANSFERRED FROM RECYCLER
TO CASHBOX!'

XXXX = Bill Type (0 to 15)

Then 81 means: A bill is BILL Stacked and Bill type is 01

How can we know the exact credit value of the bill type:

1. Every time after powered VMC will use SETPUP command 31 Validator Response Data
011156 00 64 02 00 C8 00 OF FF 01 05 OA 14 00 00 00 00 00 00 00 00 00 00 00 00 C8
Z4 Z5(Bill Scaling Factor) =0064
Z6(Decimal Places) =02
Z12-727(Bill Type Credit) =01 05 OA 14 00 00 00 00 00 00 00 00 00 00 00 00

2. Calcuate the credit
Our bill type is 01, then Bill type credit is 05
Bill credit value is : 05 * 100 /100 =5
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